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BHEERNRE

FHSE EEFEER XK EAD& R TR (EEE2E)

% i B - BIKsHiE Bifs % 8 i ® % =

EEIZE 89,611, 800
105, 798, 261 16, 186, 461

PAigiR (db) (KREBE) 89,611, 800
105, 798, 261 16, 186, 461

HERT 42, 693, 300
51,159, 148 8, 465, 848

HEBRT 42,693, 300
51,159, 148 8, 465, 848

HRER 42, 693, 300
51,159, 148 8, 465, 848

-1 BREAN) 5~100kg/f8 7KiFE10~20m%i&H 3,000. 00 7,765 23.295. 000
m 3 2,367.00 7,765 18, 379, 755 -4,915, 245

1-11 #BEEAQ) 5~100kg/f@ JKiR10mK S 0.00 0 0
m 3 1,765. 00 7,852 13, 858, 780 13, 858, 780

1-2 HHERHLO) +50cm  JKZFE10mR i 2.000. 00 5 715 11, 430, 000
m 2 1,662.00 5,715 9, 498, 330 -1,931, 670

1-3 HBHEFRHLQ +50cm  JKZE10~15mK i 1,000. 00 7,098 7,098, 000
m 2 1,184.00 7,098 8,404,032 1, 306, 032

1-4 FHERFRHLO) +50cm  JKiZR15~20mK itk 100. 00 8,703 870, 300
m 2 117.00 8,703 1,018, 251 147, 951

WEL 46, 918, 500
54,639,113 7,720,613

WERT 46, 918, 500
54,639,113 7,720,613

wER 23,906, 200
28, 409, 786 4,503, 586

1-5 HEBEREA) 1000kg/f8 7KiZE10m~ 20msk i 2.300. 00 10, 394 23,906, 200
m 3 1,069. 00 10, 394 11,111,186 -12,795,014

1-12 HBEREA (2) 1000kg/f8 7K FE10mk i 0.00 0 0
m 3 1, 650. 00 10, 484 17, 298, 600 17, 298, 600

HEHL 23,012, 300
26, 229, 327 3,217,027

1-6 wH&EHL (1) +50cm  JKZR10mK i 1,800. 00 7, 491 13, 483, 800
m 2 2,080.00 7,491 15, 581, 280 2,097, 480

1-7 HBHL (2) +50cm  JKZR10~15mK ik 900. 00 9,314 8, 382, 600
m 2 1,142.00 9,314 10, 636, 588 2,253,988




BHEERNRE

FHSE EEFEER XK EAD& R TR (EEE2E)

1-8 #H&EHL 3) +50cm 7K 15~ 20mk i 100. 00 11, 459 1,145, 900
m2 1.00 11,459 11, 459 -1,134, 441

HEBEREE FEL) 5,167, 083
5,685, 544 518, 461

HiB R 5,167, 083
5,685, 544 518, 461

HBEREE 5,167, 083
5,685, 544 518, 461

ZeE 5, 130, 683
5,549,144 418, 461

REXE 5, 130, 683
5,549, 144 418, 461

1-9 Z2EBRMm 1.00 5,130, 683 5, 130, 683
= 1.00 5,549, 144 5,549, 144 418, 461

HiEEE 36, 400
136, 400 100, 000

HifEE 36, 400
136, 400 100, 000

1-10 B EEE 1.00 36, 400 36, 400
= 1.00 136, 400 136, 400 100, 000

EEHEE 0
1,648, 622 1,648, 622

BIEXHE 0
1,648, 622 1,648, 622

TILFE—LBIE 0
1,648, 622 1,648, 622

TILFE—LBIE 0
1,607, 622 1,607, 622

R= G 0
447,370 441,370

2-1 A=K 0.00 0 0
= 1.00 322,998 322,998 322,998

2-2 HEHIERE TSR, 23845 Y 0.00 0 0
= 1.00 124, 372 124,372 124, 372

KRl = 0
616, 644 616, 644

2-3 BETXH RBIA SR 0.00 0 0
= 1.00 612, 057 612, 057 612, 057




BHEERNRE

FHSE EEFEER XK EAD& R TR (EEE2E)

2-4 TILFE—LBIFE T RIS E 0.00 0 0
km2 0.01 458,707 4,587 4,587

R 0
543, 608 543, 608

2-5 ART— ¥R EIASR 0.00 0 0
= 1.00 543, 608 543, 608 543, 608

EEREE 0
41, 000 41, 000

R 0
41,000 41, 000

2-6 EBHER 0.00 0 0
= 1.00 41, 000 41,000 41, 000

ERME 0
232,906 232,906

PIEE 3] 0
232,906 232,906

TILFE—LBIZE 0
232,906 232,906

EEAHE 0
230, 600 230, 600

R 0
230, 600 230, 600

3-1 ZRFTEET—RER 0.00 0 0
itk 1.00 230, 600 230, 600 230, 600

EEEE 0
2,306 2, 306

EHARE 0
2,306 2, 306

-2 ERARE 0.00 0 0
= 1.00 2, 306 2, 306 2, 306

LB RERE TR XEEH




BHEERER

FHSE EEFEER XK EAD& R TR (EEE2E)

% L B - Bk B B B i & & il

EEIEE 89, 611, 800
105, 798, 261 16, 186, 461

BEIEE 11,502, 637 + 23,347,323 34,849, 960
12,953,884 + 27,253,617 40, 207, 501 5,357, 541

HEREE GDH 5,167,083 + 5,735,155 4+ 600, 399 11,502, 637
5,685,544 + 6,612,391 + 655, 949 12, 953, 884 1,451,247

HEBEREZE (BL) 5.167, 083
5, 685, 544 518, 461

HBEREE (X)) 89,611,800 x 6.40% (4.90% x1.00 +1.50%) 5,735, 155
105,798, 261 x 6.25% (4.75% x1.00 41.50%) 6, 612, 391 877, 236

BERENER 89,611,800 x 0.67% 600, 399
105, 798, 261 x 0.62% 655, 949 55, 550

RS EEE 101,114,437 x 23.09% (21.81% +1.28%) 23,347, 323
118,752, 145 x 22.95% (21.67% +1.28%) 27,253,617 3,906, 294

IERfE 89,611,800 + 34,849, 960 124, 461, 760
105, 798, 261 + 40, 207, 501 146, 005, 762 21, 544, 002

—REEES 124,461,760 x 16.62% (16.62% x 1.00) — 4,513 20, 681, 031
146,005, 762 x 16.28% (16.28% x 1.00) — 2,709 23,767, 029 3,085,998

R E

118,022,502 x 0.04% 47, 209

e i 124,461,760 + 20,681,031 + 47,209 145, 190, 000
146,005, 762 + 23,767,029 + 47,209 169, 820, 000 24, 630, 000

EEIEE 0
1,648, 622 1,648, 622

HEE 0
1,648,622 x 80.2% — 816 1,321,378 1,321,378

AEREE 0
1,648,622 + 1,321,378 2,970, 000 2,970, 000

AR EHIMmE 0
2,970, 000 2,970, 000

BRI 0
230,600 + 2,306 232, 906 232, 906

BEEAGE 0
230, 600 230, 600

EERE 0
2,306 2,306




AHERERER S3FEERREER X)) RERADE B TE(ZEEE2E])

Z ORI 0
230,600 x 53.85% ( 35% — (1 — 35% ) ) 124,178 124,178

E3A 0
232,906 + 124,178 357,084 357, 084

—REEES 0
357,084 x 53.85% (35% + (1 — 35%) ) — 9,373 182,916 182,916

EZ T 0
357,084 + 182,916 540, 000 540, 000

BEHEE 145, 190, 000
169, 820,000 + 2,970,000 + 540, 000 173, 330, 000 28, 140, 000

HERFHENER 145,190,000 x 10.00% 14,519, 000
173,330,000 x 10. 00% 17, 333,000 2,814, 000

FRIER 159, 709, 000
190, 663, 000 30, 954, 000

LB

R&ERE TR LHEH
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2 1-1

~

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

2% BRZAA) 5~100kg/f@ sKFE10~20mkiH 1000m 3 Y
£ 5 R - BIRTE BAfL #H =2 B O(f 2 i s &
j2¥ =] 5~100kg/{@&
m3 1,300. 00 5, 750. 00 7,475, 000
Bkt D 270PSE! 3~5tfm
H 1.44 175, 164. 00 252,236 |8H
AR 2ER0Y%
% 0.50 7,727, 236. 00 38, 636
=1 H YEZERES - 1,000.00m 3 7,765. 00 7,765, 872
&S :1-11
L% BRHBAQ) 5~100kg/M@ KFE10mkH 1000m 34 L)
£ 5 R - KT BAfT #H = B O(f 2 i3 s &
R 5~100kg/{&
m3 1,300. 00 5, 750. 00 7,475, 000
BKEHm D 270PSE! 3~5tfm
H 1.93 175, 164. 00 338, 066 |8H
AR 2R0Y%
% 0.50 7,813, 066. 00 39, 065
& & YE%HEH : 1,000.00m 3 7,852.00 7,852,131
&S :1-2
W BARTHLA)  £50cm  KFE10mEKH 1B%HY (30.8m2)
2 5 R - BRTE B #H = B O(f 2 i3 s &
BKEHm D 270PS%E! 3~5tm
B 1.00 175, 164. 00 175, 164|8H
AR 2R 0Y%
% 0.50 175, 164. 00 875
& & E%HEH : 30.80m 2 5,715.00 176, 039




S

RifF-EIT/ Svor— S FN3F E kR B (B R #h XA RIZ2(AE) (@ B) THE(E R E2[E)
&5 :1-3
2 BARTHL(2)  £50em  KFE10~15mKiE 1HHY (24.8m2)
£ 5 R - KT =“Fiva #H = B O(f & % i s &
Bkt D 270PSE! 3~5tfm
H 1.00 175, 164. 00 175, 164|8H
MR 2R0Y%
% 0.50 175, 164. 00 875
= H YE¥RESN : 24.80m 2 7,098. 00 176, 039
ES:1-4
2 EBAREHL@G)  £50cm  JKFE15~20mKE 1BHY (26.2m2)
£ 5 R - KT B ¥ = B O(f & % i3 s &
BRI CQABKAX (XEH)) D 270PSE! 3~5t/H
H 1.00 226, 908. 00 226, 908 |8H
R S 2R0Y%
% 0.50 226, 908. 00 1,134
& H YEZERESN : 26.20m 2 8,703. 00 228, 042
&S :1-5
2 HEBERAETA () 1000kg/fE 7KFE10m~20m=K i 1000m 3 Y
2] 5 R - KT B B = B O(f ® % i3 s &
WED 1000kg/1@&
m3 1,300. 00 7, 750. 00 10, 075, 000
BKETHm D 270PS%E! 3~5tm
B 1.53 175, 164. 00 268, 000|8H
SRR S 2R 0Y%
% 0.50 10, 343, 000. 00 51,715
& & YE%HEH : 1,000.00m 3 10, 394. 00 10, 394, 715




REAR-ET/Avr—

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

H5 :1-12
2 HEBEATA () 1000kg/fE JKFE10m=KE 1000m 3 Y
£ 5 R - BIRTE BAfL #H =2 B O(f & # i s &
WEL 1000kg/ 1@
m3 1,300. 00 7, 750. 00 10, 075, 000
Bkt D 270PSE! 3~5tfm
H 2.04 175, 164. 00 357, 334|8H
AR 2ER0Y%
% 0.50 10, 432, 334. 00 52,161
=1 H 1E%8EH - 1,000.00m 3 10, 484. 00 10, 484 495
£S5 :1-6
2 wHmEBEHL (1) £50cm  JKFE10mEKE 1BHY (283.5m2)
£ 5 R - KT BAfT ¥ = B O(f & % i3 s &
BKEHm D 270PS%E! 3~5tfm
H 1.00 175, 164. 00 175, 164|8H
AR 2R0Y%
% 0.50 175, 164. 00 875
& H YEZEREN : 23.50m 2 7, 491.00 176, 039
&5 :1-7
L HEHL (2 £50cm  JKE10~15mKE 1B%HY (18.9m2)
% 5 R - BRTE B B = B O(f ® % i3 s &
BKETHm D 270PS%E! 3~5tm
B 1.00 175, 164. 00 175, 164|8H
AR 2R 0Y%
% 0.50 175, 164. 00 875
& & YE%HESH 1 18.90m 2 9,314.00 176, 039




REAR-ET/Avr—

&5 :1-8

&% - HmEBEHL (3) +50cm  JKFE15~20mEKH

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

1HEY (19.9m2)

% 5 R - KT =“Fiva = B O(f 2 W= s &
BRI QQABKAR (RE)) D 270PS%E! 3~b5tfH
H 1.00 226, 908. 00 226, 908 |8H
MR 2R0Y%
% 0.50 226, 908. 00 1,134
= H YE%RESN 1 19.90m 2 11, 459. 00 228, 042
£S5 :1-9
&% BREERM®” 14y
4 5 R - KT B = B O(f 2 W= s &
REEHM FRP D 180PS#Y
H 61.00 90, 517.00 5,521,537/6.00H / 8H
R S EX7NOY
% 0.50 5,521, 537.00 21,607
& H YEZEREN - 1. 00 5,549, 144. 00 5,549, 144
&S :1-10
2% HitEHE 14y
2] 5 R - KT By = B 58 = s &
E-AYUTHRE EMERABLT
I%E 1.00 36, 400. 00 36, 400
HAREYRARE
IZE 1.00 100, 000. 00 100, 000
& it 1EZRER : 1.00 136, 400. 00 136, 400




REAR-ET/Avr—

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

H5:2-1
& BEEE R 1KY
% 5 R - KT =“Fiva #H = B O(f & %5 W= s &
B FEHED
A 2.00 48, 000. 00 96, 000
B S AR
A 3.00 42, 200. 00 126, 600
B S H AR
A 3.00 32, 400. 00 97, 200
A 2R0Y%
% 1.00 319, 800. 00 3,198
& & YE¥HeH - 1.00K 322, 998. 00 322,998
&S :2-2
B BAMERR ETA=ERF. 2FE4Y 1XHY
4 5 R - KT B ¥ = B O(f & %8 W= s &
BIEHEE
A 2.00 25, 400. 00 50, 800
kv VAR
H 1.00 25, 483. 00 25,483|4.70H / 8H
Jz)—HE
=® 1.00 47,327.00 47,321
SRR S 2E0Y
% 1.00 76, 283. 00 762
= & {EZE8EH - 1. 00X 124, 372. 00 124,372




S

RfiR - T/ \vr—o N34 R kR A (R 3 OBy R d2 (AE) (B R) TH(E 5 2[E)
H5:2-3
£ BETR N BRTAEE EED)
% h Bt - Bk CA: & B £ @ = fig
REE SARRY L
= 1.00 3, 354.00 3,354/2. 00 / 8H
AEEERE
A 1.00 48, 000. 00 48,000
AERE
A 1.50 42, 200. 00 63,300
AIE R
A 1.50 32, 400. 00 48, 600
AEEHF
A 1.00 31, 100.00 31,100
AEM FRP D 70PSE!
= 1.00 47,819.00 47,819 8H
GNSS B B DGNSS
= 1.00 25, 575.00 25,575
YT E—LEEARH 36~ 455kHz
= 1.00 338, 250. 00 338, 250
WA EX o
% 1.00 605, 998. 00 6. 059
& F fES£8ES - 1. 005 612, 057. 00 612, 057




REAR-ET/Avr—

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

S :2-4
£ TAFE—LBFE BIMNEEH 1B%Y (1.28km2)
% h Bt - Bk B & B ¢ = = & &
REE SARRY L
= 1.00 3, 354.00 3,354/2. 00 / 8H
AEm FRP D 70PSE!
= 1.00 47,819.00 47,8198H
AEEERE
A 1.00 48, 000. 00 48,000
AERE
A 1.00 42, 200. 00 42,200
AIE R
A 1.00 32, 400. 00 32,400
AEEHF
A 0.50 31, 100.00 15, 550
GNSS B B DGNSS
= 1.00 25, 575.00 25,575
YT E—LEEARH 36~ 455kHz
= 1.00 338, 250. 00 338, 250
MM E3Z X))
% 2.00 553, 148. 00 11,062
& F fE$REN - 1.283km 2 458, 707. 00 564, 210
HS:2-5
£ MRET—4BE BTN D)
% ) Bt - kTR B & B & @ = fig
B EF AR
A 3.10 48, 000. 00 148, 800
B E AR
A 4.10 42, 200. 00 173,020
A BN
A 6.20 32, 400.00 200, 880
MMM E3Z M)
% 4.00 522, 700. 00 20,908
& fE%REN - 1,002t 543, 608. 00 543, 608




REAR-ET/Avr—

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

HS5 :2-6
B EFRRR IEED)
% 5 R - AR R Bifs % = B %5 i 5 &
EERERE
=% 1.00 41, 000. 00 41,000
& it E¥82H : 1.00=% 41, 000. 00 41,000
H5:3-1
B SRFTERETT— 2R i ED
% b3 R - BRTE Bifs H 2 B %5 i3 s &
EERER (GRED
A 1.00 58, 600. 00 58, 600
HED (A)
A 1.50 51, 200. 00 76, 800
HEn (B)
A 1.50 41, 600. 00 62, 400
B (C)
A 1.00 32, 800. 00 32, 800
A EERED - 1. 005855 230, 600. 00 230, 600
B2.32
&% EHEARE IEED)
% 5 R - AR IR BAfL H = B % i3 s &
EHARE
= 1.00 2, 306. 00 2, 306
& i E%4EH : 1.00=X 2, 306. 00 2, 306




H iz F[IEE IR E(ER X)L KAL) R) TE(EEE2E)
BHfiRES : 1-1
HfRELM . Bk D 270PSE 3~5tm 1H4Y 8H
22 g R - BIKTiR B = i ] i ik &
Bl R
L 129. 00 120. 90 15, 596
BKHEER
A 0.24 39, 200. 00 9,408/ 3=1.20
Bkt
A 1.20 39, 200. 00 47,0401 8=1.20
BIKERKE
A 1.20 24,700. 00 29,640 8=1.20
HBKERE
A 1.20 25,100. 00 30,1201 8=1.20
BE GBKkTm D 270PSZE! 3~5tm
=] 1.00 13,000. 00 13,000 BELH
BE GBKkTm D 270PSZE! 3~5tm
=] 1.65 18, 400. 00 30,360 @=1.65 #RA
& it 175, 164
BlXRES : 1-2
BEEAH | BRI QABKSR (RE)) D 270PSH 3~5tf ‘Bmy 8
A g R - KT B = fifi B 1 i &
Bh R
L 129.00 120. 90 15, 596
BKHEER
A 0.24 39, 200. 00 9,408/ 83=1.20
BKE
A 2.52 39, 200. 00 98,784/ 8=1.20
HBIKERE
A 1.20 24,700. 00 29,640 8=1.20
BKERE
A 1.20 25,100. 00 30,120/ 8=1.20
BE GBkLm D 270PS%E 3~5t/m
=] 1.00 13, 000. 00 13,000 BELH
B GBKLTM) D 270PSE 3~5tfm
=] 1.65 18, 400. 00 30,360 @=1.65 HAR
= H 226, 908




Bl

HifiRES : 1-3

BifixRAH . RLEHM FRP D 180PSE!

T3 E RS (Rt R)B R R (AR R TR (K EF2E)

1THZY 6.00H / 8H

% b3 R - BARTIR B3 H 2 B @ % i & &
FiMmA
L 37.00 103. 00 3, 811
=kMmE
A 1.20 28, 800. 00 34,560| B=1.20
TEME
A 1.20 22,100.00 26,520/ 8=1.20
B8 (&M [FRPEL]) D 180PSZ! 10.0GT
=] 1.00 9, 390. 00 9, 390 pEX IS
88 (@ [FRPE]) D 180PSZE! 10.0GT
=] 1.65 9, 840. 00 16, 236| ar=1. 65 #RA
& it 90, 517
BlXRES : 2-1
BREM: FSvs 2tFE 1B 4.70H / 8H
% b3 R - BIKTiR B3 #H =2 B @ % i ik &
8h
L 20.00 153. 00 3, 060
EBEF (—)
A 1.00 18, 400. 00 18, 400
BH (v o [EEE]) 2t3E
FFE 4.70 248. 00 1,165 EERRERT
BH (v o [EEE]) 2t3E
=] 1.13 2,530.00 2,858 #RA
& it 25,483
HBHRES : 2-2
Bl : XBE S92 2 1THZY 2.00H / 8H
& 5 1RAE - BKTiR By #H = B @ % i3 i &
FIu>
L 6. 00 163. 00 978
B (54 ANV [ZREEE]) FHEFEIE HR=2.0L
R 2.00 290. 00 580 pELINiC|
B (54 ANV [ZREEE]) FHEFEIE HR=2.0L
=] 1.19 1,510.00 1, 796 #RA
& it 3, 354




Bl T3 E RS (Rt R)B R R (AR R TR (K EF2E)

BfiREFS : 2-3
% FR B - IR BfL % 8 B * & = & =

FihmA

L 44.00 103. 00 4,532
ST

A 1.20 28, 800. 00 34,560 8=1.20
B (@M FRPE]) D 70PSZY 3.0GT

H 1.00 3, 200. 00 3,200 EERH
B (REMFRPE]) D 70PSZY 3.0GT

H 1.65 3, 350. 00 5,527 a=1.65 #“AA
= it 47,819




